/DVIRB

*UXSD 5RINiDG Y6/ 7/ 7-6 7\J

SRQLHG]LD3HN

7\J

3RGVIDZ\ SV\FKRIRJLL
NUHDINZQRGFL Z GU
- RUQDFND 6NZDUD
QTEHID = )$
/ - >/ -
)*3/ z +,6
= INJRGQIX  JDICFID Z
JRG]

7\J

+VIRUD NUDlyZ

DQJIHIVNIHIR REV]DUX

IC]\NRZHJR GU KDE

2GUJ\ZRIVND $QQD SURI

8-" "( )$ 7/
&

7\J

31-$ VSUDZQRGFL
1LQIHIURZDQH GU
5DJDQIHZIF] ODIGDIHQD
"C Y8/ /
7-6

NG] L JDICFID
VIDFIRQDUQH ING]
DICFID RQIQH (. 856

-W

HURGD

7\

31-$ NRQZHUWDFH PJU
-HGJIHUWNL = (RGLPW =%

F]1ZDUWHN

Y/ / 7-6

7\J

7HFKQRIRJLD LQIRUPDFNIQD)
Z iXPDFTHQUDFK L Z
NRPXQINDFLL GZ GU _IHiE
GIDIFTHZVND (ZD =%
.20387(52:$

7N
GHPIQDUXP G\SIRPRZH
Gl -RKQVRQ 6XVDQQD
GIDF\ =% IS/

7\J

31-$ JUDPDIND

SUDNINF]QD PJU BNRZURQ

$QQD =% )8/
/ 7-6

)$/ [/ 7-6

AN
6HPLQDUXP G\SIRPRZH
GU - XUHN OD{JRU]DID =%

)$ 7/ -

7\J

GHPIQDUXP G\SIRPRZH
GU . IHiE BIDUFTHZVND
(2D =% )$/

AN
6HPLQDUXP G\SIRPRZH
GU - RSHi =ELJQIHZ =

)$/ =

SLCWHN

7\J

7iXPDFHQID
VAPXIDQIF]QH (DE IC]
PJU . HG]LHUINL = (RGLPL
=0 %/ 7/
7-6




